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O AZ&H RXE=H| 200,000 * 204 400
CAUME2 dSHAHZ E=Hl
1,500,000& * 1JH A 1,500
OAUM=s2 3t&4 HIO&Xd
900,000& » 20H 2 1,800
206 = Hl 3,600 3,600 0
01 MHZ 4l 3,600 3,600 0
OdUxsa 23> Hgry
20,000& = 15% = 13 300
OdUNMsE2 =8+ &45H 7
20,000& = 159 = 13 300
Oduxsa =838 sx ¢
500& * 2,000 E = 1.53| 1,500
oMl SEH 857 500& * 3,000% 1,500
401 Al HIZ 201 I 35,938 2,000 33,938
01 A& HI 35,938 2,000 33,938
OaUxsa, 202 A2 HMF A
500& = 8,750 4,375
OdUixsa, 202 ALLHIY HHFH
=l 350& = 8,750 3,063
Ozl tHalo A BIEENY WA EA
28,500,000 * 14l 28,500
405 XHoHF S HI 5,000 6,000 A 1,000
01 HatH ESFH S 5,000 6,000 A 1,000
OdUNs2 SEA H - &) ZLLEX
5,000,000& = 14 5,000
SEESE 22 26,951 24,951 2,000
101 @124l 4,051 4,051 0
04 JIZHHNZ2XNSE =+ 4,051 4,051 0
OBEHSEH s34 4 02y
38,120& = 621 * 9.5353] 2,181
O3&E2sd 240 9FY
75,6003 = 521 * 4.9473| 1,870
201 Let24d] 21,800 19,800 2,000
02 232gHl 21,800 19,800 2,000
Ol2322 ¥ HMAl 9,400
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IS4 54
22 MSAE 29
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
OIS (BL2sH ,3t&4a MFSIHOE
EY) 450,000 = 12& 5,400
ONBI+ERB(BLLSE SFA BaS)
OIEEE) 1,113 = 300 » 12& 4,000
O[AM&EHI S X4l 12,400
OBHSER 5B SN B2
300,000& = 65 1,800
ONMAEZ HOIEZE RAE=H
1,000,000 * 1= 1,000
OSLE2sE RAE+4|
1,440,000,000& * 0.375% 5,400
OZSLE2E UM BHAAY
2,200,000& = 13l 2,200
OZ242sd Y&TH KA E=H
1,000,000& * 14 1,000
OZ242sZ% CCTVRAIE +=H|
1,000,000& * 13/ 1,000
206 = Hl 1,100 1,100
01 MHZ 4l 1,100 1,100
OZHSEx XZ4 27
20,000& * 20% = 13l 400
OZH2SY ZZ4 4EH 7
10,000 = 208 = 13 200
OzZ&es® M)l 25 7Y
500& * 1,000% 500
FHSEEIIE 22l 30,000 30,000
201 L2l 4,000 4,000
02 2324l 4,000 4,000
ol22e22 ¥ HMAl 4,000
O&XILI(LHEHEIE) 225,000 « 12& 2,700
04 BI+ER3(LHAINE)
1,260& = 85.95& * 128 1,300
206 M= Hl 2,000 2,000
01 = tl 2,000 2,000
OgHEFIE I 2 200,0008 » 105 2,000
307 @12+0l 24,000 24,000
05 RIZt2IEt = 24,000 24,000
OoBYHAINE letnely|
2,000,000& = 128 24,000
MsAd2e 2372 7,800 7,800
206 = Hl 7,800 7,800
01 M2 4l 7,800 7,800
O ® HoeEgx 4237
10,000 » 30X * 16004 4,800
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OHUAZE 2372 10,0008 * 602 * 54 3,000
HSEENss 22 44,442 31,125 13,317
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04 D12t 22 s+ 681 5,814 25,133
OusFEY B4 AR
38,1203 = 32 * 5.953] 681
201 Let24E] 40,061 21,711 18,350
01 At 22l 5,750 0 5,750
ol2g=¢] 5,750
oM =FASY YELY
50,000& = 115¢ 5,750
02 =224l 34,311 21,711 12,600
O [232= % HAI 32,311
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2,300,000& * 128 27,600
O&st+==ER= 1,267.5& » 100 » 128 1,521
oOdJetMzeIHY =8
180,000& * 122 2,160
O AZE3aldl 70,000& * 12 70
OSHEE SIEMER
40,000 = 23l « 128 960
O [MN&ZHSXHl] 2,000
Ods=gHsa A=Kl
1,500,000 * 14 1,500
Ods=sEgMsa 2588 |sX22tl
500,000& = 14 500
202 04l 1,100 0 1,100
01 S LHOIYI 1,100 0 1,100
ASEEHsa L AXACRE 2922 &
SFIHYI 20,0003 * 55 1,100
206 = Hl 1,100 1,100 0
01 MHZ 4l 1,100 1,100 0
Ox&d= Hg+g 20,0003 = 20% = 13l 400
OxZ=+= &4=H 7€ 20,0008 = 108 13 200
oMl sEHaE ¢ 500& * 1,000& 500
405 XtabFE SHI 1,500 2,500 A 1,000
01 AR ESFH S 1,500 2,500 A 1,000
Ods=gHdsa 2871+ 383 7Y
500,000& 338 1,500
oS SE2SE 2922 10,062 4,908 5,154
101 @124 dl 4,562 4,408 154
04 JIZHHNZ22XNSE+ 4,562 4,408 154
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Ha: gy
Sl =B (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 7,860 7,860 0
Olget=&Hl] 3,000
ORA2E SHA L 3,000,000& = 14l 3,000
Ol=&tl] 4,860
ORAN2E SHAL 4,860,000& * 14! 4,860
202 O4dl 9,000 9,000 0
01 = LH 4 Hi 9,000 9,000 0
FN2E SHAY 9,000,000& * 14! 9,000
HEXJ J1=23H 14,155 14,155 0
201 et 5,135 5,135 0
01 At 22l 5,135 5,135 0
Oflger=&Hl] 2,300
ORAN2E SHAL 2,300,000& = 14l 2,300
Ol=&tl] 2,835
ORAN2E SN
7,000& = 391 x 11.25¢ » 128 2,835
202 4l 9,020 9,020 0
01 SLHOYI 9,020 9,020 0
FN2E U
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O+ g€= 54 04l
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olgers=&4l] 4,000
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0 &
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01 JIEtSI AN &
Odz=0JI
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